V(VB-1)2+ /(V3-2)2 & Axtslole,

>
l> P Sl= B |

okl =

B

V3-1>00°]B2 /(V3-1)2=+3-1

V3-2<00|22
V(V3-2)2=—(¥3-2)=-V3+2
L (VB=1)2+ 4/(V3-2)2
=V3-1-V3+2=1




O -3x% + 3y? 2 —3x% 4 8xy + 3y?

® x2 +2xy +y? @ 3x% - 8xy + 3y?

(x+2y)* - (2x - y)
= (x% + 4xy + 4y?) — (4x% — 4xy +y?)
= —-3x% + 8xy + 3)?
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@a2—2ab+2b2 @ a® - 2ab + b? ® a? - ab + b?

® a? —2ab ® a*+ 2ab

(Q ol Wol) = (a-b)? = a® - 2ab + b?
(R ] Hol) = p?
w2bA, 0 + R 9] HWol= a? — 2ab + 2b* ot




4. 1082 +ax-6= (2x-b)(6x+2) 2 A+ B2 W, a + b o] S
51 ?

O -11 @ 11 ® -14 @ 14 @—8

10x> +ax—6 = (2x—b)(5x+2) °|B2 2= —6,F5 b =3
ojtt.
b g =4-15=-11 °|2& g+ b = -8 O|T}.
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AR Q] Fol7t 2x% + 5x + 2 ©]aL W] Fol7t 2x 4 1 & T,
=9

Hir o

@x+2 @ x-2 ® 2x-1
@ x-1 ® x+1

2x2 +5x+2=(2x+1)(x +2)
m2bA] 0] x + 2 °]th




6. (x-1(x=-3)(x-5)(x-7)+k 7} AT o] HL=F Ak 9
w27

@ 2 @ 4 ® 6 @ 11 @16

B ~
(x=1D)(x-T)(x=3)(x—5)+k
=(x?-8x+7)(x*-8x+15) +k
X2 —8x=A2 E=OM,

(A+7)(A+15)+k

=A2 +22A + 105+ k = (A + 11)?

2105 +k =112 =121

o k=16




® x-1 @ x*-1 @ x*-1




2 = 2xy 37 + 20 - 2y - 3& AFRGHA?

O (x-y=-3)(x-y+1) @ (x+2y+3)(x-y-1)
@ x-y+3)x-y-1) @ (x-2-3)(x-y-1)
® (x=y+3)(x—2y+1)

B

Zol4 412 xo] Be) Felak
x4+ (2-2)x+y*-2y-3
=+ (2-2)x+(+1)-3)
=x-0+DHx-0-3))
=(x-y-Dx-y+3)




VI96 + \/(=2)2 + /(=3)T = x , 2x /42X (-2)T - V225 =y ,
24, x+y+ 107 9] S Fatolat

o
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=
|
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o
—
Il

x= V196 + /(=2)2 + /(=3)%

=14+2+4+9
=7+9=16

y=2x /#Zx(-2)- V225
=2x16-15
=32-15=17

z= v0.64— V0.0l =0.8-0.1 =0.7
watA x4+ y + 10z = 16 4+ 17 + 7 = 40 ©]t}.
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VIO T % 9 VIZ0x 7} BE A4t HES st 7P A A
x & Fatefet,
=

> Hehl 30

B ~

V19 + x 7} 47 H 3™ 19 + x = 25,36,49,--- . x =
6,17,30- -+ «-- @)

V120x = V23 x3x5xx 7F AL H#HH - x = 2x3 %

5, 23 % 3 x B,o00 oos ©
O, ©NA 718 22 A4 x= 30 ot
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12.

6 < V31 < 8 & WHESIE A% g o] FE Z ANZES o, AEUL b
2k g, o - b o B Fololal,

> E

> HE: a-b=238

4
6< V3n<8—36<3n<64 —>12<n<6—

Za=21,b=13 . a-b=28




A ojo] AL g, b ol K5t kS a *k b=ab—-a—b-3°|2t T o,

VREAEEEY
35 85
v T O

3«/‘ _ 3«/’ \/5___3

vz—ﬂ—3

8
:_5«/"

Vok —




14. =S A = p g r =840 A BC. D E
UEr Ear ghek HEEA A" 0 5 ’
27

p=V3+V5.q=V3-2,r="5+2
O A=p, B=gq. C=r @D)A=¢q, B=p, C=r
@A:q,B:p,D:r @B:p,C:q’D:r

@ B:r, C:p, D:q

B :
i) p, g r o da BAS AA L3t
Dp-g=V3+V5-(V3-2)=V5+2>0.p>q

2 g-r=v3-2-(V6+2)=V3-V5-4<0.r>¢q

() p-r=V3+ VB (V5+2) = V3-2<0.:r>p

Lr>p>q
i) g = V3-2<00°l82 $24 0 Br} 9%9] H3l A
A7 g,

r=v5+2°4 V5o HYgE=2< V5 <30°BER 4<r<5
olct

ot r 2 C, p & B ol S1Xdh




15. (x—2y-1) S AL 0 22 O ASE A, x ] A
AL CE T, A+ B+ C O S Tl

cCh "
H -

>
l> b= )

oH =

B

(x-2y-1)(x-2y-1)
=x2-2xy—x—-2xy+4?+2y—x+2y+1
=x%—4xy+4y> -2x+4y+1

2 Y AFEL, x A AFe -2, 521 0t
wef A=1,B=-2,C=1°|th
LA+BLC=1-2+1=0




16. (a—-b+3)%—(a+b+3)* S s g HL?

@© —4b(a-3) @ —4a(b+3) ® -8b(a+3)
@ —da(b-3) @) -1 (a+3)

B

(a-b+3)>%-(a+b+3)°
={(a-b+3)+(a+b+3)}
{(a-b+3)—(a+b+3)}
= (-2b) (2a +6)

= —4b (a+ 3)




